2019F B X H B R G /A FHRB R I S

FENTE AR 1 56 Bl A E 12 # At

REFS | AFIES 4 SR B2 | ewma | GRO5L | FOEY | sma | LB | E S
03917 1917041114 Fk= MHEIH (BA. B) EFN 65 84 87.02 81.71 v E
03116 1917032607 Z=REH MFEIE (A, B) EVN 59.4 82 89.6 81.28 p =
03307 1917040528 FH £ MPHIH (ZA. B) EY/N 60.1 81 88.76 80.7 = =
02864 1917013429 T K36 MPHIH (ZA. B) EFN 61.2 80 88.84 80.66 = =
04402 1917023913 S UE MHHIH (AL B) EF/N 71.4 78 85.88 80.62 = &
00167 1917011301 X158 MPHH (ZA. B) EY/N 61.1 80 88.2 80.32 =
02796 1917011907 IEARAN MHHIm (BAL B) EF/N 60.8 81 85.8 79.36 =
02425 1917041526 ITEE MHPHIH (AL B) EY/N 68 75 86.12 79.16 =
06620 1917031509 SESS MHHIH (ZA. B) EF/N 66.5 76 84.94 78.57 =
03410 1917022209 +HER MpHID (FA. B) EFN 712 73 84.72 78.5 =
00529 1917012302 ZHW MHHEIH (AL B) EF/N 63.8 77 85.16 78.44
00238 1917010304 SEE MpHIH (FA. B) EFN 61.8 81 829 78.11
04305 1917010727 b MPHH (ZA. B) EY/N 69 74 83.8 77.9
01422 1917023729 5L MPHIH (ZA. B) EFN 60.2 80 82.64 77.36
05123 1917040330 =g MHHIH (AL B) EY/N 62.2 78 82 76.84
04170 1917022202 T MPHH (ZA. B) XY 67.4 98 90.6 88.18 = =
00126 1917021608 REKEE MFEIH (A, B) £ 70.9 100 86.9 87.63 = =

F1o, HI15]




wEFS | REIES % BEFE B2 | | QRAR | PR sme | JEHEL | TITE
03278 1917012901 (BE:DE MPHIT (ZA. B) =7 68.6 89 90.2 85.52 =

04008 1917010914 FxA MPHIH (ZA. B) XY 64.6 95 86.2 84.52 =

06965 1917022125 ZhnE MPHH (ZA. B) =27 69 88 85 82.7

03843 1917013121 SEd AT (ZA. B) XY 68.6 89 80.6 80.72

01084 1917024616 BArZE MPHH (ZA. B) e 69.7 83 86.3 81.99 = =
03335 1917042512 HPIEEES HEHT (SA. B) G2 64.2 80 89.6 81.64 = =
00982 1917021604 ES MFEBIE (A, B) e 65.1 81 86 80.32 p =
02575 1917031213 =RE MHPHEIH (AL B) G2 61.5 85 84.7 80.15 = =
02775 1917031617 Bh AN 5k MpFIH (FA. B) e 64.4 76 88.4 79.88 = =
3006 1917031014 FHAfE MBHF (SA. B) e 63.9 73 90.2 79.78 = =
06937 1917042730 ) MpHIH (FA. B) e 725 70 88.5 79.75 = =
01250 1917031013 E$ 2874 MPHIH (ZA. B) 0¥ 61.7 81 86.2 79.74 =

02966 1917022515 T MPHIH (ZA. B) e 67.5 80 83.5 79.25 =

04244 1917033721 ET= MHHIH (BAL B) 0¥ 66.6 73 87.6 79.02 =

03851 1917020611 BRI MPHH (ZA. B) e 63.4 78 85.2 78.68 =

01308 1917030610 BEE MHHIm (BAL B) G2 65.6 76 85.1 78.47 =

01063 1917033407 IS HHEIE (ZA. B) e 63 82 82.2 78.3 =

03304 1917042616 TWE MHPHEIH (ZA. B) G2 63.6 81 81.6 77.82 =

01203 1917021809 EesEik MpHID (FA. B) e 60.4 84 80.4 77.48

F2W, #15W




wEFS | REIES % BEFE B2 | | QRAR | PR sme | JEHEL | TITE

01410 1917033617 BFE R MPHIT (ZA. B) ] 65.6 76 82 76.92

01377 1917031908 fiNZ = MPHIH (ZA. B) e 61.8 75 83 76.36

03684 1917024915 TBE MHHIH (A, B) ] 66.8 73 78.4 74.46

05811 1917010610 Ea MHHIH (BA. B) 0¥ 60.8 79 77 74.36

04499 1917012217 Rig MPHH (ZA. B) e 66.3 72 TRE

00440 1917041330 K% MHRHM (BA. B) 5 61.1 75 TRZE

00525 1917030330 FARAR MHPHE (BA. B) Nz 58.4 69 84.94 74.85 = E

05394 1917021425 P B! HEHIT (ZA. B) ®wE 54.3 62 88.52 73.72 = =

05329 1917011612 Z=FAA MFEIE (A, B) -] 56.5 60 86.8 727 p =

00557 1917011020 HHE MHPHIH (AL B) =] 53.9 58 88.92 72.64 = =

01965 1917013316 Iz 227) MPHIT (ZA. B) *®E 53.2 64 85.06 72.37 =

01980 1917040219 k38 MEHT (&A. B) *®E 56.5 60 85.4 72 =

01108 1917040714 BRI MHHIH (A, B) *®F 58.3 64 82.1 7191 =

01298 1917022027 )i MHHIH (AL B) ®E 66.8 58 80.2 70.86 =

05505 1917031611 Py MPHH (ZA. B) *®5 57.9 57 84.14 70.75

04487 1917040120 XL MHHEIH (AL B) =] 53.1 59 84.6 70.62

01092 1917032307 £=8{E MAPHT (ZA. B) N=} 57.1 62 79.7 69.87

00141 1917013601 K E MHPHEIH (ZA. B) B 53.3 63 80.6 69.86

04430 1917031425 =k MpHID (FA. B) Y132 62.4 80 91.8 82.38 = =
$F3MW, F15W




BEFES | REES % e B2 | eutma | JRR | FERR | gy | LA | HHEE
03971 1917010229 AN MPHIT (ZA. B) Y13 64.3 78 87.2 79.86 =
02505 1917020101 B % MPHIH (ZA. B) Y 62.5 81 82 77.8
00782 1917012013 e/ MPHH (ZA. B) FEHEA 63 86 88.2 82.5 = =
01015 1917041312 TEW MHHH (AL B) FEERA 56.6 85 87.9 80.77 = =
00589 1917022608 RN MPHH (ZA. B) ESSS%N 62.3 86 834 79.96 =
04581 1917013003 HRRE MHHIH (BAL B) FREA 70.2 80 80.8 78.44 =
04989 1917041414 R MHHE (AL B) EREA 57.4 79 84.3 77.33
05251 1917012518 F# MHPHEIH (AL B) EERA 59.1 87 78.6 77.22
02066 1917014823 NE MpFIH (FA. B) HR 67.4 74.5 86.88 79.27 = =
00965 1917011327 k¥ HMEHIT (ZA. B) =R 62.4 74 874 78.38 = =
02069 1917043114 5 3% MpHIH (FA. B) EIR 60.4 80 83.1 77.63 = =
05290 1917010510 D4 MHBE (BA. B) &R 57.2 735 88.12 77.55 = =
03355 1917043401 et MHHIH (A, B) HR 62 74.5 85 77.25 =
00768 1917014913 FINER MHHIH (BAL B) B 57.1 74 87 77.12 =
01898 1917021901 *E MPHH (ZA. B) =R 57.7 70 87.66 76.37 =
00574 1917043223 BRI MHHIm (BAL B) CER 55 71 87.62 76.11 =
06823 1917010408 B MHPHIH (AL B) FR 62.7 74 82.5 75.99
05163 1917032002 ERW MHPHEIH (ZA. B) HR 60.3 68.5 86.6 75.91
02007 1917022803 B MpHID (FA. B) L 57.1 69.5 85.78 75.16

F4TL, HI5W




wEFS | REIES % BEFE B2 | | QRAR | PR sme | JEHEL | TITE
02418 1917033810 =5 MpHIH (FA. B) R 56 68.5 85.02 74.26

01371 1917011308 5 % W MPHIH (ZA. B) HIE 70.6 95 90.6 87.92 = =
06712 1917011026 )4 R MPHH (ZA. B) = 60.5 95 914 86.3 = =
05543 1917032423 =] MHHIH (BA. B) KB 70.1 85 92 85.52 = =
01076 1917041321 Bz MPHH (ZA. B) I 61.5 96 86.8 84.5 = =
06616 1917023112 B’XFH MHHIH (BAL B) HiE 68.4 85.5 90.2 84.43 = i
00511 1917012719 - MHPHEIH (ZA. B) HiE 729 86 87.9 84.33 = =
00866 1917041913 =) FHHEIF (SA. B) BB 66.6 93 86.1 84.27 = =
02892 1917010308 KE 2 MpFIH (FA. B) BB 65.6 89 88.6 84.12 = =
00046 1917014209 iickzSAT] MHPHIH (AL B) HIE 61.3 91 89 84.06 = v
2525 1917024014 THR=E MHEHEm (A, B) B 69.9 84 89.2 83.78 =

02686 1917012912 BRMM MPHIH (ZA. B) HIE 64.4 89 88.4 83.78 =

03615 1917033923 R MPHIH (ZA. B) = 614 95 86 83.78 =

04399 1917011526 S 6 MHHIH (BAL B) KB 66 88 87.6 83.4 =

02769 1917022810 SR F] MPHH (ZA. B) I 62.2 90 86.8 82.84 =

00879 1917022909 B A MHHIm (BAL B) HE 70.7 91 82 82.44 =

00824 1917022511 L@ MHPHIH (AL B) KB 66.1 92 824 82.02 =

00009 1917010806 HEE MHPHEIH (ZA. B) KB 60.5 92 84.2 81.8 =

00002 1917021823 NG AR MpHID (FA. B) KiE 66.2 88 82.8 81.04 =

FH5I, HI15I




BEFES | REES % e B2 | eutma | JRR | FERR | gy | LA | HHEE
00202 1917031713 R Zh MpHIH (FA. B) HIE 62.4 93 81.3 81.03
00896 1917040312 X B MPHIH (ZA. B) HIE 60.9 91 824 80.68
01248 1917043428 B MPHH (ZA. B) = 63.6 89 80.2 79.52
02464 1917032928 FINEEFE MHHIH (BA. B) HiE 65.8 91 77.1 79.01
05661 1917033515 =48 MPHH (ZA. B) G 64.2 90 77.8 78.74
04130 1917032712 = MHHEIH (AL B) KiE 63.4 90 76.8 78.08
04362 1917011529 RIS MHPHEIH (ZA. B) HiE 64.8 88 76.8 77.76
06379 1917031720 =8 MHPHEIH (AL B) HiE 66 88 74 76.6
02432 1917030115 REIE MPHIH (ZA. B) *iE 64.1 89 TRE
03888 1917043126 ) MHPHIH (AL B) BX 63.9 87.5 92.02 85.04 = =
03578 1917020105 ¥ E HHREIE (ZA. B) BX 65.2 87 91.46 84.87 = =
02175 1917012121 FEE MPHIH (ZA. B) EX 67.4 88 89.96 84.86 = =
01826 1917013207 IIFIE MPHIH (ZA. B) EX 70 82 92.24 84.72 = =
02791 1917023106 Sl MHHIH (BAL B) EX 65.4 89 89.8 84.68 = =
04697 1917030425 BT B MHHIF (BA. B) BX 68.7 85 89.36 83.92 =
04384 1917031807 BTEn MHHIm (BAL B) 1B 65.2 86 89.86 83.77 =
03698 1917022028 3] MHPHIH (AL B) EX 67.7 83.5 89.02 83.1 =
00858 1917030316 FEE MHHIH (BAL B) BX 68.5 86.5 86.7 83 =
06854 1917012618 HEFH MpHID (FA. B) BEX 71.7 82.5 87.7 82.94 =
F601, 151




wEFS | REIES % BEFE B2 | | QRAR | PR sme | JEHEL | TITE
02674 1917042016 EEX MpHIH (FA. B) EX 66.5 82.5 84.94 80.52

03789 1917011924 ERB3E MPHIH (ZA. B) EX 65.9 815 85.48 80.37

02572 1917010813 FRE MPHH (ZA. B) EX 70.1 78 85.42 80.13

06740 1917030612 ERsEsF MHHIH (BA. B) EX 71.8 79.5 79.4 7791

2120 1917020711 Fig MPHH (ZA. B) EX 64.1 82 79.44 77.14

03003 1917031107 BEE MHHEIH (AL B) BGA 66.3 92 87.84 84.78 i =
01154 1917011126 W& MHPHEIH (ZA. B) BGA 66.8 92 86.94 84.43 = =
01179 1917014803 BRWE MHPHEIH (AL B) BUA 61.6 92 88.48 84.16 =

00729 1917042925 24 MpFIH (FA. B) 597} 69.4 84 88.66 83.41 =

04310 1917041821 =R MHPHIH (AL B) BUA 60.9 87 85.74 81.15

04271 1917031121 T=EE MpHIH (FA. B) BUA 61.9 86 84.26 80.31

06049 1917024222 I INEH (EERES) 0¥ 51.2 57 86.6 70.64 = =
00974 1917033113 Fayinig INEHT (EERES) e 44.8 54 81.6 65.96 =

00890 1917042820 LR INFEID (E=1RES) 0¥ 61.1 46 77 64.52

06901 1917030306 FKE INEHT (EERES) EX 50.1 81 85.94 77.29 = =
06124 1917010501 Bl INFFIH (E=IRES) BEX 50.2 79 85.8 76.64 =

06117 1917022919 {E5R5% INFEUH (&AL B) ER 62.6 87 89.4 83.32 = =
02527 1917040614 EER INEBIE (BA. B) EVN 69.9 79 90.1 82.73 r E
02416 1917011822 SES INFHFD (BAL B) EFN 61.8 90 84.66 81.69 = =

BT, H15]




wEFS | REIES % BEFE B2 | | QRAR | PR sme | JEHEL | TITE
04371 1917024829 RIEE INEZIT (&AL B) ES 56.4 83 90.6 81.48 = =
00020 1917010327 ZSYIN INEFT (ZA. B) EFN 66.1 82 86.9 81.27 = =
02012 1917043128 v INEZIT (ZAL B) EFN 59.3 83 88.74 81.13 = =
04162 1917024509 EWME INFEIB (BA. B) EY/N 59 84 87.82 80.91 = =
05810 1917033921 BLR INEZIT (ZAL B) EY/N 63.2 78 89.5 80.79 = =
04905 1917021716 R INFHIR (BAL B) EF/N 56.9 88 85.7 80.63 = =
02871 1917011525 ERF INFEIB (BA. B) EF/N 61.2 78 89.74 80.51 = yis
03787 1917024703 AXE INFHIR (BAL B) EF/N 56.7 80 90.14 80.41 = =
00022 1917042819 i 2aS 27 INEZIT (ZAL B) EFN 56.8 87 84.8 79.86 = =
00038 1917021917 KRR INFHIR (BAL B) EF/N 66.6 80 85.04 79.84 =

05289 1917021111 F it INEZIT (ZAL B) EFN 60.2 86 83.4 79.54 =

03596 1917032118 ERH INFFD (BAL B) EY/N 57.5 84 85.24 79.32 =

00878 1917033518 E1) INEZIT (ZAL B) EFN 58.2 86 83.5 79.19 =

07136 1917012606 g%k INFEIB (BA. B) EF/N 62.4 83 83.18 78.97 =

05936 1917042605 Fanan INEZIT (ZAL B) EY/N 59.6 80 85.72 78.78 =

02949 1917022419 B3 INFHIR (BAL B) EF/N 66.2 74 86.54 78.71 =

03775 1917013726 HHREL INFEIH (BA. B) EF/N 62.2 80 84.54 78.71 =

03623 1917013728 W INFEHIE (ZA. B) EY/N 60 91 78.6 78.6 =

02884 1917030603 =% INFHFD (BAL B) EFN 56.2 83 84.86 78.57 =

F£87T1, #£15m




wEFS | REIES % BEFE B2 | | QRAR | PR sme | JEHEL | TITE

05913 1917023726 BE INFHFID (BAL B) ES 58.6 80 85.14 78.29 =

06285 1917023019 M INEZIT (ZAL B) EY/N 59.4 80 84.8 78.28 =

02789 1917021603 A INEZIT (ZAL B) EFN 64.4 77 84.46 78.21

00194 1917041914 A INFHUT (&AL B) EAR 59.1 79 85.1 78.07

04688 1917023502 SR INEZIT (ZAL B) EY/N 56.9 80 85 77.88

01309 1917030216 EEHK INFHIR (BAL B) ER 57.7 81 84.04 77.86

01644 1917022417 BRI INFHUT (&AL B) ER 57.3 87 79.66 77.39

01755 1917011415 SRR INFEIB (BA. B) ER 64.7 80 79.94 76.91

06527 1917012210 HEE INFEHIT (BA. B) EVN 65.1 76 81.14 76.39

06503 1917042316 = INFEID (BAL B) EF/N 55.1 82 79.6 75.42

00144 1917011217 KX FH INFFID (BAL B) EFN 55.7 83 78.68 75.38

04692 1917023515 =4 INEZIT (ZAL B) EY/N 62.5 77 79.52 75.36

06203 1917012911 ¥ INEZIT (ZAL B) EFN 62.7 77 78.96 75.12

00979 1917012504 X E INFHIR (BAL B) EAR 55.8 81 78.66 74.79

00945 1917030212 TURIE INEZIT (ZAL B) e 66.4 73 89.8 80.08 = =

02071 1917031914 AR INFHIR (&AL B) e 71.9 70 89.3 80.03 = =

01019 1917012803 X FE INEHE (BAL B) e 67.4 69 89 78.68 p =

02907 1917014023 “ZE INFEIB (BA. B) 0¥ 68 66 89.3 78.05 = =

00649 1917033812 E=REE INEZT (ZAL B) e 69 66 88.2 777 = =
FOW, F#15M




wEFS | REIES % BEFE B2 | | QRAR | PR sme | JEHEL | TITE
02412 1917030402 < INEZIT (&AL B) e 68.2 73 84.2 77.64 = =
06878 1917032322 EXT INEZIT (ZAL B) 0¥ 70.6 67 86.7 77.57 = =
01172 1917015016 N INEZIT (ZAL B) e 76.8 62 86.8 77.36 = =
01020 1917042516 ®T INFHUT (&AL B) B 66.4 65 88.1 76.83 = =
00670 1917023807 R INEZIT (ZAL B) e 72.8 64 85.6 76.56 =
02755 1917032802 TEE INEHITR (A, B) 0¥ 67.5 65 86.6 76.3 i
02480 1917024319 LEE INFEIB (BA. B) G2 74.5 64 83.2 75.7 =
03283 1917042502 THH INFHIR (BAL B) 0¥ 76 63 82.2 75.2 =
02750 1917032814 X1 B B INSFFUT (&A. B) e 63.7 69 83 74.94 =
05006 1917031714 FHEWE INFEID (BAL B) G2 63.1 63 85.2 74.12 =
05465 1917020618 EXEIN INFFID (BAL B) e 63.9 65 83.5 74.03 =
05419 1917012428 RPN INFET (&AL B) HF 65.3 61 85.1 73.91 =
00106 1917040309 FNEAE INEZIT (ZAL B) e 69.2 61 83.4 73.84 =
00060 1917033415 KSR INFHIR (BAL B) 0¥ 67.8 60 84.5 73.81
04030 1917041523 B b INEFE (BA. B) e 65.5 65 82.3 73.75
04715 1917032025 RIRH INFHIR (BAL B) G2 63.4 63 83.8 73.48
01631 1917024411 RIS INFEUH (&AL B) HE 66.8 63 82.3 73.41
06996 1917022610 I BB INFEIB (BA. B) G2 66.2 73 76.4 73.34
02378 1917010827 BEEF INFHFD (BAL B) e 63.3 69 79.2 72.96
FI0MW #£15]




wEFS | REIES % BEFE B2 | | QRAR | PR sme | JEHEL | TITE
00500 1917043405 SKEL INEZIT (&AL B) ] 67 64 79.6 724
00349 1917014006 A+ INEZIT (ZAL B) e 64.3 62 81.7 72.31
02608 1917040129 E334 INEZIT (ZAL B) e 66.6 61 79.8 71.52
02899 1917043109 BHE INFHIR (BAL B) ®wE 64.8 76 88.56 80.04 = &
04903 1917023302 T INEZIT (ZAL B) *®F 58.4 70 90.72 78.04 = =
00306 1917023716 il AL INFHIR (BAL B) =] 61.4 66 87.98 76.07 = =
04055 1917030519 FH INEBIE (BA. B) ®E 62.5 66 84.9 74.75 p =
02994 1917021201 2SS INFEHE (BA. B) ®wE 57.9 65 87.04 74.6 = =
04977 1917040807 g INEBE (&AL B) %8B 66.1 61 85.8 74.42 = =
03737 1917020505 = INEBIE (BA. B) ®E 51 69 86.62 74.21 = =
04145 1917023911 *BXF INEBE (BA. B) N1 53.1 62 89.28 73.86 p =
00402 1917013606 BE INFET (&AL B) =} 55.8 60 89.18 73.75 = =
06421 1917024606 BEJEAR INEZIT (ZAL B) *®E 63.5 59 86.44 73.62 =
01992 1917020605 ENE INFEIB (BA. B) ®E 57.8 60 87.32 73.22 =
05253 1917030528 F A INEZIT (ZAL B) *®E 57.7 63 85.04 72.96 =
04743 1917030920 W INEEF (BA. B) B 54.8 65 84.16 72.54 =
01277 1917042526 B {EW INFEIH (BA. B) £ 54.8 67 82.64 72.38 =
04058 1917023317 IREF INFEIB (BA. B) E] 58.5 58 86.3 72.25 =
02401 1917010811 F4 INFHFD (BAL B) £ 63.5 55 85.44 71.92 =

FI11W #£15]




BEFES | REES % e B2 | eutma | JRR | FERR | gy | LA | HHEE
02987 1917023208 =ER INEZIT (&AL B) £ 59.5 57 85.5 71.75 =
03760 1917023817 A INEZIT (ZAL B) B 50.2 62 85.34 71.31 =
04037 1917021304 ) HE R INEZIT (ZAL B) £ 52.3 60 85.5 71.21
03595 1917013305 =B INFHIR (BAL B) B 60.7 64 79.6 71.14
01698 1917022613 FINSE INEZIT (ZAL B) B 64.5 56 82.86 7113
02413 1917023014 EAN INFHEIB (BAL B) £ 63.5 59 80.4 70.6
03820 1917030218 X INFEIB (BA. B) E 475 63 84.06 70.43
02334 1917025027 PNIKER INFEIB (BA. B) B 59.3 58 80.6 69.56
04478 1917011302 IR INFHFID (BAL B) £ 52.2 60 79.98 68.43
00891 1917024425 i) R 3 INFEID (BAL B) £ 48.6 64 75.8 66.82
06704 1917011725 y-t=2 INEHT (&AL B) B 56.5 60 TRE
02874 1917023814 B INFFD (BAL B) CEa 54.3 80 86.96 78.34 = =
01672 1917042401 =HR INEZIT (ZAL B) EIR 61.9 73 85.68 77.12 = =
05130 1917022905 eS| INFEIB (BA. B) FR 58.4 70.5 87.56 76.61 = =
02085 1917034006 X[ INEZIT (ZAL B) CEa 51.2 76 86.1 76.09 = =
01628 1917025023 5 INFHIR (BAL B) FR 53.5 75 84.88 75.64 = =
05327 1917022319 pUE INFEIH (BA. B) K 58.8 65 88.04 75.28 v
01357 1917011716 T INFEIB (BA. B) HR 54.4 64.5 89.88 75.17 =
04088 1917022128 Sk EE INFHFD (BAL B) FR 52.4 74 84.82 75.09 =
F12mW #£15]




wEFS | REIES % BEFE B2 | | QRAR | PR sme | JEHEL | TITE

03242 1917010517 FIFIIE INFHFID (BAL B) EIR 47.8 70.5 86.34 73.88 =

04218 1917043209 KB INFET (&AL B) =R 56 64.5 86.6 73.85 =

02790 1917013716 %+ INFHFD (BAL B) CEa 51.7 70.5 83.64 73.31

01742 1917024904 2R INEHIR (BAL B) i 54.9 64 84.52 72.44

06472 1917033717 TE INEZIT (ZAL B) CEA 50 66.5 84.12 72.01

01101 1917023920 X Jk=F INFHEIB (BAL B) HR 55.9 67 80 71.28

02152 1917031012 HEE INFHUT (&AL B) BR 56 62.5 81.94 70.92

00166 1917032121 Fits INFEIB (BA. B) HiE 65.8 80 90.2 82.26 = v

00846 1917012701 =205 INFEHIT (BA. B) RiE 66.2 78 89 81.14 v =

02823 1917023006 EIXE INFHIR (BAL B) HIE 65.9 84 85 80.88 = v

03151 1917032311 T=EY INFHID (&AL B) KB 61.8 80 88.1 80.41 =

01089 1917021616 5K AR 1% INEZIT (ZAL B) HIE 59.8 88 84.1 80.41 =

03874 1917031903 BRIV 32 INEZIT (ZAL B) B 65.7 76 85.6 78.74 =

00122 1917040608 /N INFEIB (BA. B) HKiE 52.9 84 85.4 78.48

00102 1917020522 EIN INEZIT (ZAL B) HiE 55.4 85 81.3 77.23

01489 1917032127 2= INFEIB (BAL B) HE 61.8 79 TR

04922 1917021007 BRAA INEFUE (BA. B) BX 70.1 81 90.16 83.4 = E

03228 1917023725 TEIg INFEIB (BA. B) BX 64.7 84 88.82 82.55 = =

03840 1917014015 Fhg INFEHTE (&A. B) EX 66 86 87.02 82.51 = =
FI3M, #£15]




BEFES | REES % e B2 | eutma | JRR | FERR | gy | LA | HHEE
02126 1917021902 ¥EFH INFHFID (BAL B) EX 73 83 84.4 817 = =
01506 1917022013 FIR INEZIT (ZAL B) \EX 71.6 79 86.92 81.48 = y=s
00586 1917010102 XRE INEZIT (ZAL B) EX 66 81 87.1 81.05 = =
00641 1917013818 (FG2 INFHUT (&AL B) IBX 69.8 815 84.86 80.84 = =
01039 1917030427 FNK P INEZIT (ZAL B) B 68.8 81.5 85.04 80.73 = =
00413 1917032222 ZiE INFHIR (BAL B) B 65.7 80.5 86.3 80.44 = i
00552 1917043228 EB3CK INEBIE (BA. B) BX 67.2 79.5 86.22 80.4 e
01235 1917040929 #HE INFEIB (BA. B) BX 68.5 81 84.74 80.37 =
00448 1917023426 ] INFHFID (BAL B) BEX 70 77 86.36 80.28 =
03945 1917020706 FE& INFEID (BAL B) BX 67.4 80 85.54 80.25 =
01733 1917042315 I INEZIT (ZAL B) B 66.7 81 85 80.14 =
04506 1917030814 FREL INFET (&AL B) BEX 64.7 84 83.98 80.13 =
00694 1917012802 ERH INEZIT (ZAL B) EX 69.9 78 85.4 80.08 =
02095 1917022504 *B1E INEBT (ZA. B) EX 75.7 79 82.3 79.99 =
03284 1917030802 X & INEZIT (ZAL B) BX 70.7 77 84.78 79.63 =
02512 1917031609 FERER INFHIR (BAL B) EX 66.9 86 80.3 79.33
02669 1917010513 EXH INFEIH (BA. B) EX 66 83.5 81.7 79.1
01676 1917032315 T INFEIB (BA. B) EX 68 79 83.4 79
02526 1917011209 BT INFHFD (BAL B) B 66.2 79.5 83.74 78.96

F14W #£15]




BEFS | RHILS e BEFE B2 |eetms | JEA2 | FAEM | sma | JSLEL | SR
02628 1917033011 BT INFHFID (BAL B) BEX 72.8 78 80.78 78.35
03438 1917021519 B=E INEZIT (ZAL B) EX 65.7 82 81.2 78.34
04607 1917032505 2= INEZIT (ZAL B) EX 66.5 80.5 79.52 77.21
03167 1917022910 B X iE INEZUF (ZA. B) B 64.3 85 TRE
01520 1917042329 X &2 INEZIT (ZAL B) EX 68.4 78.5 TRE
IS5, #1157




